b ! AT e sl
¢ KL B E 230 0V E 3

-

r .
At
To0h &

g

() S(Xfiwz))‘f S{X+2) -2 =0 @ sz\f_g’}{ +Jg -] =0
1t2=k v H<C X ~JE{x-1)=0
zﬁagxw 2=90 =00 D= J50-1) =0
(BL (Y(k+2) =0 ' (x-1) (X+1-J5) =0
F- 1

A z - 2X+6+2J6=0
{ (e — 2 =0 ’% * 7, ﬁv % r?‘ Li( )
3+ 11 + 2D m@ . 3\{ s X“"W{ £ | (6+20)
(3%+€) (A+4) = = iJ—‘mMﬁ;

= L5+ 2]E A

BT
=5, -4 | = |+ (T A

2)  2(x=1)Y=2{x-1)+] =0 | X LEFRT
X""i“:; fi“ _— o Jotut 2iap = [a+ [ (3£2A7E)
241 =0 N e e -
| o 8 380 BE 0

- ””i _LEFT it
- T2 Y

(3) x*- Fm—f?;‘ ::@
l'??}

ﬁ?i & l;’:j*’@ ad j*

==L ”W’wa i d5-0 _ stls 44

21 - >
t+ o 958 _ S5+ {[E-JF) _ ~
70 ( ) _ E»l/ %

2 7




44

< BNE & g o

$ R s FENB L B T
() 2 =5X+3-2m=0 96
FIFIN Dy §3¢
De (-5 ~4 - (3-2m)= ¥m+13
‘ 2 . -
W D>0 Trht wr-% ovE F752200 ELEE
i) D=o bt m=-% ors TER
s, _— 12 - ﬁ?}%@%ﬁ
W D<o gkt m<-2 ard Z7R3 20050
(2) 45"y m-H)X+1 =0

WX EDr §3 v
D= (w-1)"- 44 |=
= {m+3d(m-5)
() H>0 bt me~-3, Eawm
) P=p Jhbt m=-3.5
W Do diEbs —3<mcs

W= 2w - 15

J}f g%ﬁ
ov: B R o
neF EE3 Do a EETRR

K+ 4x+2 =0 0)
) k=0 ovs @ ¥ "777”7&55*{*(
44+2=0 ! x=-%

7 O 1t f’JG} EHELLE O,
2l kxo aex ®13 2;?3%%-%%: e 75,
FIBIN & D3

v

11

2
k-

D=4 4. y;g)wgk:m’éwr?
(1) D >0 /bt 2650 H'T k<2 (ERU k#0) 0L
£753 oo BEKER £ L 70
(o D=0 d%HT 2-k=0 55 k72 ars
| @ﬁ@%a%
W) D<o Fhht 2k <0 05 K72 a3
%@ 27 @ff%%izf??{z €70

Ctal+o+3=0—QO
P = {5:;";4_.;
= mwmﬁ)”ﬁ\ 53
O NEXEEs L > ¢ 5 PO
’”24\ a. < ’6

= Ax+ =0 —@
Po= (- j,l“?,‘,;“ 4.1 4 = A% 16
= (mén)mjt 4)
@4’3\/’;&%‘{7@%% £ DV F Do

W@ N G35 fEE L D0
ke T
—2< AL 4

OX A+ C=0 — D
Do FHXEDCT 2L
D= Sr-4ac

Ly Cc " BEZ20r 5 ac<
Tl irER L0 T b2
4, T

L~ 40c » 0
LI=ns T >0 726534

o BRI %

E O
{— % “2

T

iﬁfﬂif—?—\, % }E}i 4 @\ e
(a+3) = a%-%a

=he —~4aC>0

3ok

E. @@ o FiBkCE

[

DIEFERL3I2>




r

el

~a M S ﬂﬁx g/,A “% : L ’
t/g%' wf? "{E) %f?j Vo Eﬁyﬁg?g{; .

99 X+ 20X ra+2 =0 — O 03~ 2X*8x+5=0

Y 4 4043 = 0 e @) R 125 0 BB » 5
@@@%%&ﬁg%%w LD e 9300 -8

b o=l 4 m.wf*4a 4a-%

= 4{p’- a /~4%#aﬁig , F. T ;
D, = (4= 4-1-(&+3) K+ BP= (B~ 20p = 42 % =1l

{;f}zﬁ %’%gv“ {:“a”" §VMM~ ”(:;}i” (Q{+{§ ;o - 3.% ié-
= 64-30 = 34‘

K= (At B) (A= Apap?) = 4 (11-3) =34

106 e A-5=0
“/% @gf B« 345 ol TR 5

o< iéa . |

I drp=-gk =1, of=F =-5
m-“ﬂfaﬁﬁﬁﬁi ol <P 1wwwszr212
Dz0 ¥ P20 m»—mmm &y 20023 = 4ol = 4. (-5) =-20
E | FoT. 2d,208 5 AR« ‘dfi 2 HFEX 1T

X=2X =20 =0

e) o pr= (dap)- 2af = [ 29D =1

@ os ”;“f | | KB = (dR)* = (-5)" = 25 h
e TRy £ N ? gtji-:;[} 3 3 L : ,, s F
z;\:(?gl':b . m 3:7? d\y{g 32_ %wf‘?i? ?{)g\, ﬁgg@y{}%&%ﬁ g@
d, < 211X+ 25 = 0
-z, 224 |

fﬁ“?ﬁ%@ﬁ?%Zf!%Zz%
!
{ol




C A7

B o - R
ITE T Tgg T 5% T 7%
B.d —y
* P
Fo7. &, %%ﬁ@zaszi’wﬁimg
U= () x+1 =
d7%h
Ex+ix+5 =0

3)8»61%5 =0
ARy (A%t o BATR 1 5

’ef=—=2, op=t

b

N Z
5 B (e P 3B (elrp)
d‘g 53"{@5%;?“{% = ”*ff
Fo TRMHI2IXFREERNIE
X - bXx+ 35 =0
d7:H T

Arl !L” L. d 77 Ay v (5{ H f;} 7'1 ;’ﬁ’? 1@4’ ZZ @J f:ﬂiﬁf "}\

XX+ 5x+2 =0

3+ +p=0

Wofled v T3 BRe(AEofEn s

O(f%:.-% w@i %O{:—%—« W@

05 __n_z _ 3
=-5 % =

QAN LT 12
P=20d=2(3)=-4§ nBE -3, p=-

SOYF 4 o 2R GAER IR
34 = O
(3(~-2)(X+3) =D 7z o fRix -3




I

f-xz@

r+ox+ =0 — O
3424 N O Bz o 7"
(3+24)°+ A(3+24) + =0
G+i2A+ 437+ 3A% 208+ L= 0
(344 +5)+ (20+]2)A =0
o, b (SEE Srant
30+ h+5 =0, 20+(2=0

FaT

a==6, Lo=13%
/

¥
- (-
+2

)L Y=3)-113
M

Kt
=

*f
W)

X+ ax+ =0 — O
4200+ bht2=0D — O

O o2> 0 BE N o, /3?‘;@?“

A=-6, =3

XC—6x+13=0 =75 AEI¥

fEaBE 3-24

d+R=-0&, AR= Lr www@
Qo250 BE 4 B, UR T n
@+pyr o =-2a, (@awm{& br2 —@
@E@ifMAaLT B FE ,ﬁ CERS
0+ b=-20 —6 ®
@ "5 b=-a T o zf?@’\fff*m L7
—pl-py=—-0+2
02+ 0-2=0
(a+2)(a-13y =0 LT=9,7 Qa=-2,1
h=-2 0 ¥x bh=2
o= tbop 3 =
Eop=-2, h=2 FER A=, L=~

A BHER 2 AR
(x-2)(x-3)=0
J7% b5
Xi=5A+4 = O
BA9AR - 2 KAFER I3 BN (=34 fal
(X-3)(X-4) =0
1= Tx+12=0
AR IR £ EPEE 2 .
T3 o T,

o}

IO 1=2,3 et

RBAIRERER . +fHE 2
N {/t\f;%?g:f?,?éi -

-1 x+6 =20
€ AE O
(x
Z

. 1B L

7
—1)(x-6) =
\%?g

~

J;’7

94

Cx=16
- 5xT 6 = (x22)(1-3)
| = (XY (-T2 (HF ) (- T )
LT, T
N (;Q?’—; L}(X.z“"%> ‘

) (T D-TDIOHTE ML~ )

2 xt -2 = (3200 1)
= (GA+ T =02 ) (X 1)
= (SAHTZ)TE L= JZ (A +a ) (X-A)

(2)

L T=b
2
“)
7)

{BX&M‘@){X&‘" )
CED TS ICER ST EDIY . 1)

(SBAr+ZOUZX-JZ) (+ AY (X~ a)




